Buffer
CHM 1046

1. What is the pH of a 0.203 M HF solution?  HF Ka = 6.8 x 10-4  

a. What is the pH of a buffer solution prepared by mixing 50 mL of a 0.203 M HF with 50 mL of a .315 M NaF solution?  HF Ka = 6.8 x 10-4  

b. What is the resulting pH if we add 5 mL of a .800 M HCl solution to this buffer?  Does the pH make sense?  Why/why not?
c. What is the resulting pH if we add 5 mL of a 0.600 M NaOH solution to the original buffer?  Does the pH make sense?  Why/why not?
2. What is the pH of a 0.435 M CH3CO2H solution?  CH3CO2H Ka = 1.75 x 10-5
a. What is the pH of a buffer solution prepared by mixing 120 mL of a 0.435 M CH3CO2H with 50 mL of a 0.286 M CH3CO2Na solution?  
CH3CO2H Ka = 1.75 x 10-5
b. What is the resulting pH if we add 10.2 mL of a .513 M HCl solution to this buffer?  Does the pH make sense?  Why/why not?
c. What is the resulting pH if we add 3.56 mL of a 0.420 M NaOH solution to the original buffer?

3.  Give a recipe for preparing 1.0 L of a  CH3CO2H-CH3CO2Na  buffer solution that has a pH = 4.00.  You have 1.5 M CH3CO2H  and 1.9 M  CH3CO2Na available   

CH3CO2H Ka = 1.75 x 10-5
4. Give a recipe for preparing 1.5 L of a  HF-NaF  buffer solution that has a 

pH = 4.00.  You have 2.0 M HF and 3.0 M NaF available             
HF Ka = 6.8 x 10-4  
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